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HEE A 1.760 2.050 | 2.350 2.600

BHIEES A 5.140 6.000 | 6.870 7.700

ARG T EREES A 4.810 5.600 6.440 7.300
gL—>H 45tF") E] 1.430 1.700 1.910 2.200

B JL—> FHEBEEHHL(%) | % 2.000 2.000 | 2.000 2.000

PCi#LVER | ©17.8mm m | 30.000 | 34.400 | 38.800 | 43.200

PCHIERE |V T . 7oh—TL—h 18 8.000 8.000 | 8.000 8.000

B o T HEE A 0.850 1.000 1.130 1.300
- HE%IELE A 1.890 2.200 | 2.520 2.800
EREEE A 1.890 2200 | 2.520 2.800

e FRBEAEICHL (%) % 1.000 1.000 1.000 1.000

IS KJZ-GF630 m 1.325 1.327 1.329 1.331

B E£8 A 0.500 0.580 | 0.670 0.750

AET SR ERIEES A 1.000 1.170 1.340 1.500
AR IER A 1.000 1.000 1.000 1.000

EME % 0.500 0.500 | 0.500 0.500

FiAKEHAM | NyxIL2 m | 110.00 [128.00 [147.000 |165.000

Bi kBt | T51<— kg 3.000 3.500 | 4.000 4.500

R —1>J | 2)a->270 ¢ | 10500 | 12.300 | 14.000 | 15.800

RNEB—)>F | To71<— ) 1.000 1.200 1.300 1.500

A KRAK T RS- | o—hF 21732 kg 0.233 0.233 | 0.233 0.233
W& —1)>F | 8752 #100 ¢ | 36.000 | 42.000 | 48.000 | 54.000

Bk EILZIL m 0.035 0.040 | 0.044 0.053

BhK T A 0.500 0.580 | 0.670 0.750

ERMEXE A 1.100 1.300 1.500 1.700

EHEE % 0.500 0.500 | 0.500 0.500
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